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TOSSUP 1
He supported the creation of King’s College London because of its Anglican nature.  However because he had grown up in Ireland he supported the Catholic Relief Act in his first term as a Tory prime minister.  He was often mockingly called the Sepoy General by his enemies due to his years spent fighting in India but he was a brilliant general as evidenced by his defensive maneuvering during the Peninsular War.  For ten points name this British general most famous for defeating Napoleon at the Battle of Waterloo.


Duke of Wellington (accept Arthur Wellesley)

TOSSUP 2
The baritone lead's servant opens the show with the aria “Notte i giorno faticar” and later sings “Madamina, il catalogo i questo” to Elvira.  Its first act's final minuet is quoted out of context in Liszt's Figaro Fantasy, and “Non piu andrai” from The Marriage of Figaro is itself quoted in the final banquet scene interrupted by the arrival of a stone guest.  Parodied in Shaw's Man and Superman, for ten points, what Mozart opera concludes with the statue of the Commendatore dragging down to Hell the titular libertine?


Il dissoluto punito, ossia il Don Giovanni, K. 527

TOSSUP 3
In Women at the Thesmophoria, Aristophanes shows a court of women trying to put this man on trial for revealing their tricks and, in The Frogs, decides to let him remain in Hades after all, for being too wordy and effeminate.  In reality, this writer certainly seemed to have sympathy with female characters, as his plays include such dramas as Helen¸ Andromache, and Phoenician Women.  For ten points, name this Greek playwright perhaps most famous for writing Medea.


Euripides
TOSSUP 4
One example of it is the high incidence of polydactyly among the American Amish population due to a smaller pool of genetic diversity amongst its small group of initial members. Populations experiencing this effect typically show increased genetic drift and inbreeding due to the small starting population. First described by Ernst Mayer in 1952 and a central concept in population genetics, for ten points, name this effect that refers to a loss of genetic variation when smaller group of individuals break away from a larger population.


founder effect (do not accept bottleneck effect)

TOSSUP 5
At the age of seventeen, he was convicted of “maiming-by-mob” due to a riot that broke out at a bowling alley he was at, though that conviction was later overturned on appeal.  Later in his career, his missing a mandatory appearance with his team at a Lucky Strike Lanes helped prompt a trade to his current team for Andre Miller, Joe Smith, and draft picks.  The 2001 NBA MVP, he is a four time scoring champion and trails only Michael Jordan and Wilt Chamberlain all-time in career average.  For ten points, who is this former Philadelphia 76er and current Denver Nugget?

Allen Iverson
TOSSUP 6
Pencil and paper ready.  Dan wants to find the sine of the arc-cosine of 1/4.  To do so, one could find the arc-cosine of 1/4, but that would be tremendously difficult.  Instead, one could draw a triangle with sides 1 and 4, and find the sine of the appropriate angle.  Easiest of all, though, is to realize that the cosine of the arc-cosine of 1/4 is 1/4, and that the sum of the sine squared and the cosine squared is 1.  For ten points, what is the sine of the arc-cosine of ¼?  You will have 15 seconds.

Square root of 15 over 4

TOSSUP 7
Allusions to the Order of the Garter are interspersed throughout, and it premiered when the Queen attended the Garter Feast on April 23, the author’s birthday.  The play was written at the request of the queen, who had seen Henry IV, and wished to see Henry’s portly friend fall in love.  This central male character of the play attempts to gain wealth by courting two wealthy married women.  For ten points, identify this Shakespeare play that centers on Mistresses Ford and Paige and their Suitor, Falstaff.


The Merry Wives of Windsor
TOSSUP 8
This idea was introduced as a thought experiment in 1867 when a philosopher at the University of Edinburgh asked its creator to critique a manuscript on thermodynamics. One resolution of the problems posed by it focuses on logical irreversibility and the increase in information entropy when information is erased. Otherwise, it would be possible to obtain energy from the resulting temperature differential without an input of work. For ten points, identify this theoretical creature that violates the second law of thermodynamics by sorting molecules based on their speeds.


Maxwell’s Demon
TOSSUP 9
“I am coming at you. You will explode in a couple of minutes,” was heard here, according to the Pentagon’s account of the incident.  It is currently disputed whether the 3 American warships were about to open fire on the five small boats which had approached within 200 yards.  The Revolutionary Guard denounce as fabricated the Navy records pertaining to a January 2008 naval incident occurring for ten points, in which body of water lying between Oman and Iran?

Strait of Hormuz

TOSSUP 10
Although it became possible in 1806 after Aaron Burr suggested a change in the Senate rules, it was not important in American politics until 1841, when a dispute over a bank bill in the Senate caused Henry Clay to attempt to restrict its use by majority vote.  Trent Lott also suggested eliminating it for judicial nominees.  It has been used most notably by Huey Long, who discussed Southern recipes on the Senate floor, and Strom Thurmond, who broke the record by speaking for a little over 24 hours.  For ten points, name this Senate procedure in which a bill is talked to death, which can only be ended by cloture, a two-thirds majority vote.


Filibuster
TOSSUP 11
The first act opens off the coast of Cornwall, where an unlikely apprenticeship ends, and the second acts takes place in a ruined Gothic chapel where a “most ingenious paradox” is revealed to Frederic: his birth date on Leap Day requires him to serve his apprenticeship until 1940, sixty-three years later.  Frederic’s sense of duty compels him to complete his apprenticeship by fighting his former allies, Major-General Stanley and a bunch of despondent, singing policemen, seriously jeopardizing a happy ending.  For ten points, name this comic opera by Gilbert and Sullivan that is finally resolved when the title buccaneers turn out to be noblemen who have gone wrong.


The Pirates of Penzance (accept The Slave of Duty)

TOSSUP 12
The first of these was isolated in 1825 by Michael Faraday, and was given its modern name by Eilhard Mitscherlich (mit-shur-lick) after he derived the first one from benzoic acid and lime in 1833.  They need not have six carbons, like that compound, but they do follow Hückel’s rule, in that, they contain 4N+2 delocalized electrons, where N is a whole number.  For ten points, identify this class of organic compounds that contain planar rings that usually contain alternating single and double bonds, the simplest of which is benzene.


Aromatic Compounds or Aryl Compounds

TOSSUP 13
Six quaestors take care of its members' administrative needs.  Of its seven party groups, the two largest are commonly known as the People's Party and Socialist Party.  Unlike most national legislatures, it cannot initiate bills, but must vote on proposals from the executive along with the Council of Ministers.  After 2009, its permanent membership will increase from 732 to 750 under the Treaty of Lisbon, but it currently has 785 seats due to the recent accession of Romania and Bulgaria.  For ten points, name this directly elected legislative body of the EU.


European Parliament

TOSSUP 14
Pencil and paper ready.  To find the larger leg of an integer right triangle with smaller leg 17 and consecutive integer lengths for the other sides, it helps to realize that an algorithm exists for the construction of such triangles. Letting the smaller leg be x, we note that x squared plus 17 squared must be x+1 quantity squared, which allows you to solve for x, since two x plus 1 must be 289. Using this procedure, what is the larger leg of a right triangle if the smaller leg is 17 and the other two sides are consecutive integers?  You have fifteen seconds.

144
TOSSUP 15

On December 7, 1972, an assassin tried to stab her to death during an awards ceremony that was broadcast live on television.  In 1974, she secured hosting honors of the Miss Universe pageant for her home country served as the Minister of Human Settlements until 1986.  It was in 1986 that she and her husband fled to Hawaii after the People Power Revolution toppled their twenty year regime.  For ten points, who is this former First Lady of the Philippines, best known for her large collection of shoes? 


Imelda Marcos
TOSSUP 16
The early legendary kings of Sweden claimed descent from these.  Their leader, Njord [neh-YORD], moved to Asgard, in exchange for Mimir, a god of wisdom, and Hoenir, a god of silence, but Mimir was killed and his head sent back to Odin.  Njord and his children Freyr [FRAY] and Freyja [FRAY-ya] were, for ten points, the 3 most prominent of what race of Norse nature and fertility deities who fought a war against the Aesir?

Vanir
TOSSUP 17
He produced grapes in winter, played pranks on the pope and summoned the ghost of Alexander the Great, but his first request was to know the nature of hell, which seems wise given the terms of his agreement.  Though he gained Mephistopheles as a servant for twenty-four years, he eventually regretted the bargain.  For ten points, name this German scholar who made a pact with the devil, the title character of a Christopher Marlowe play.


Doctor Faustus (Prompt on Faust)
TOSSUP 18
Whenever he posed for a photograph, he would strike a Napoleonic pose with his right hand in his coat.  He supported Grover Cleveland in 1884 in hopes that he would be named Secretary of War but his nomination was blocked by political rivals he had made during his tenure as governor of New Jersey.  Despite being well-organized and revered by his troops, he was overly cautious which contributed to the failure of his Peninsula Campaign.  For ten points, name this Union general who ran against Lincoln in the 1864 election and commanded the Union forces at Antietam.

George McClellan

TOSSUP 19
Examples of these include the Messier objects M13 in Hercules and M15 in Pegasus. Their high stellar densities lead to the creation of blue stragglers and pulsars. In most cases all of the stars in these objects were formed at the same time, so their ages can be determined from the location of the main sequence turnoff on an H-R diagram. Usually found in the galactic halo, the Milky Way is thought to have approximately 180. For ten points, name these large collections of population II stars, named for their typically spherical structures.

Globular Cluster
TOSSUP 20
The first documented European to reach it was Étienne Brûlé (eh-TEE-en broo-LAY), although artifacts believed to be of Norse origin have been found in the area.  In pre-colonial times, it served as part of the border between the Huron and Iroquois Indians.  As part of the Great Lakes Waterway, its primary inlet is the Niagara River, and its primary outlet is the Saint Lawrence.  For ten points, name this body of water, the smallest and easternmost of the Great Lakes.


Lake Ontario
TOSSUP 21
He faked his death twice – first accidentally and then intentionally in order to escape his drunken father.  Mourned chiefly by his sometime-guardian widow Douglas and by Aunt Polly, he leaves his recently found treasure with Judge Thatcher and sets off up the Mississippi River.  For ten points, name this literary character, who helps Jim, a runaway slave, flee to the North in a work by Mark Twain.


Huckleberry Finn
BONUS 1
Pencil and paper ready.  Given the matrix with first row [3,5], and second row [4,6], For ten points each:

10:
What is the determinant of the matrix?


-2
10:
What is the inverse of the matrix?


(-3,5/2);(2,-3/2) (first row is [-3,5/2], second row is [2,-3/2]; accept equivalents)

10:
What is the square of the matrix?


(29,45);(36,56)
BONUS 2
For ten points each, answer the following questions about a stellar event.

10:
When the iron core of a massive star passes the Chandrasekhar limit, it collapses and produces this extremely energetic event


Type II Supernova
10:
Over 90% of the energy from a type II supernova is released in the form of these fundamental particles.


Neutrinos
10:
If the remaining core is below approximately 3.5 solar masses, one of these objects remains. They have magnetic fields of approximately 1012 Gauss.


Neutron Star
BONUS 3
For ten points each, given an amendment, name the president who presided in office during its ratification.

10:
The 21st Amendment, repealing prohibition.


Franklin Delano Roosevelt
10:
The 16th amendment, allowing the federal government to levy an income tax.


Woodrow Wilson

10:
The 13th amendment, abolishing slavery.


Andrew Johnson

BONUS 4
Given a description, provide the formal name of each of these cognitive biases FTPE.

10:
People tend to remember better, and derive more information from, evidence that agrees with their pre-existing beliefs than evidence that opposes them.


confirmation bias

10:
People tend to emphasize personal characteristics in explaining the behavior of other people 
rather than situational or environmental reasons, and the reverse in explaining their own actions.


fundamental attribution error (or correspondence bias or overattribution effect or actor-observer bias)
10:
People tend to express greater liking for an object than for others in its class if they are acquainted with it or have been shown it, even imperceptibly.


(mere) exposure effect

BONUS 5
Answer the following about Dostoyevsky’s The Brothers Karamazov for ten points each.

10:
It is the murder of this Karamazov patriarch that instigates the plot of the novel.

Fyodor Pavlovich Karamazov
10:
This character is Fyodor’s servant and is rumored to be his illegitimate son by way of a street woman called “Stinking Lizaveta” which gave rise to this character’s middle name which means “son of the reeking one.”

Pavel Smerdyakov (accept either)
10:
This oldest Karamazov son fritted his money on a life of debauchery, leading to conflict with his father and suspicion in his murder.  Both father and this son also fought over the same woman, named Grushenka.

Dmitri Fyodorovich Karamazov

BONUS 6
Answer the following about Australian landmarks, for ten points each:

10:
This large building, famous for its shell-like architecture, is one of the defining features of Australia’s most populous city.


Sydney Opera House (accept clear-knowledge equivalents)

10:
This large sandstone monolith of central Australia is the center of many Aboriginal legends.


Uluru or Ayers’ Rock
10:
This geologic formation off the southern coast of Australia consists of several natural limestone stacks formed by erosion.  One of them collapsed in July 2005, reducing their number from 9 to 8.


The Twelve Apostles
BONUS 7
For ten points each, answer these questions about Dashiell Hammett and his works.
10:
Thusby’s murder entangled private eye Sam Spade in the pursuit of a strangely sought-after stone carving in this novel.


The Maltese Falcon
10:
The cocktail-swilling socialites Nick and Nora Charles, accompanied by their dog Asta, take up solving murder out of boredom in this last novel written by Hammett.


The Thin Man
10:
Hammett’s involvement with the Communist party helped this playwright of The Children’s Hour and The Little Foxes end up blacklisted because their long-term affair cast suspicion on her.


Lillian Hellman
BONUS 8
Give the geometry of the following molecules, according to VSEPR theory, for ten points each:

10:
Water


Bent
10:
Formaldehyde


Trigonal Planar
10:
Sulfur Hexafluoride


Trigonal Bipyramidal
BONUS 9
Identify these females related to Aeneas, for ten points each:

10:
Aeneas’s mother, who protected him from Diomedes’s aristeia [ah-rist-EYE-ah].

Venus or Aphrodite
10:
Aeneas’s first wife, who became separated from him during the Sack of Troy.

Creusa

10:
Aeneas’s second wife, who was previously betrothed to Turnus.

Lavinia

BONUS 10

For ten points each, answer some questions about the Reconquista.
10:
This was the first Christian kingdom created in the Iberian Peninsula after the fall of the Visigothic Kingdom.  It was founded by Pelayo but it was not until Alfonso II that this kingdom was strong enough to be recognized by other European Christian kingdoms.


Kingdom of Asturias
10:
This legendary Castilian nobleman was a mercenary who fought for both Muslim and Christian rulers.  He is most famous for conquering Valencia in 1090.


El Cid Campeador (accept Rodrigo Diaz de Vivar)

10:
The fall of this city in 1492 to Ferdinand and Isabella marked the end of 780 years of Muslim control in the Iberian Peninsula.


Granada

BONUS 11
Answer the following about the upcoming Grammy Awards for ten points each.

10
Nominated for Record of the Year is this Rihanna and Jay-Z song in which she offers to let her man stand under the title object the last two syllables of which she repeats ad nauseum.

“Umbrella”

10:
This singer-songwriter probably owes her Best New Artist nomination for the appearance of her song “1 2 3 4” in an iPod Nano ad as much as for her album, The Reminder.

Feist
10:
Herbie Hancock received an Album of the year nomination for his tribute to this Canadian singer-songwriter, best known for her songs “Both Sides Now,” “Woodstock,” and “Big Yellow Taxi.”

Joni Mitchell
BONUS 12
The path to developing new artistic techniques has been long and arduous.  Name these artists famed for their innovations in art, For ten points each.
10:
This Dutchman is generally regarded at the inventor of oil painting as he skillfully demonstrated in pieces such as The Man in a Red Turban and The Ghent Altarpiece

Jan van Eyck

10:
This Italian architect is widely regarded as the discoverer of linear perspective even though he is more famously known for designing the Dome of the Florence Cathedral.

Filippo Brunelleschi 

10:
This Italian painter was the first to create a convincing plasticity in figures through his use of shadows and transitions and he was the first to employ scientific perspective in painting as shown in his Tribute Money

Masaccio
BONUS 13
Answer these questions about a contemporary of Shakespeare’s For ten points each:

10:
Although he wrote the tragedies Sejanus and Catiline, this man is best known for satirical comedies such as Volpone.


Ben Jonson
10:
In this Jonson play, the servant Face takes advantage of his master Lovewit’s absence to set up shop with Subtle the charlatan, who pretends to possess magic powers in order to trick people out of their money.


The Alchemist
10:
In this Jonson work Littlewit’s pregnant wife Win pretends to have a craving for pork in order to persuade her mother’s companion Zeal-of-the-land Busy, a strict Puritan, to allow them to go to the fair.


Bartholomew Fair
BONUS 14
Identify these parts of the human eye for ten points each.

10:
This part of the human eye contains the greatest concentration of cone cells, cells which are directly responsible for detailed, sharp vision and color vision.

Fovea (accept Macula)

10:
Forming the outer layer of the eye, this tough, white protective tissue helps maintain the shape of the eye. 

Sclera

10:
In order for light to reach the retina, it must first past this clear gel substance after traveling through the lens. 

Vitreous Humor

BONUS 15
For ten points each, answer the following questions about the election of 1860.

10: 
There were a total of 303 electoral votes in the Electoral College at the time. Within 20 electoral votes, how many did Abraham Lincoln win?


180 (accept answers between, and including 160 and 200)

10:
Running for the Constitutional Union party, which candidate won the electoral votes from the state of Kentucky?


John Bell

10: 
Which Democratic candidate later supported Lincoln’s declaration of war on the Confederacy?


Stephen A. Douglas
BONUS 16

For ten points each, find the number of possible orderings of the numbers 1 through 5 if:

10:
No further restrictions are made.


120

10:
The 3 must be in the second spot.


24

10:
The 1 and the 2 must be consecutive.


48
 BONUS 17
After years of fruitless talks of a friendly takeover, Microsoft has just announced a $44.6 billion bid to acquire this online conglomerate.  For ten points each,

10:
What second-leading search site was established in 1994 as Jerry's Guide to the Internet?


Yahoo! Inc. (accept www.yahoo.com)

10:
Within 5%, according to Gartner, Inc. Market research, what percentage of Internet search traffic flows through Yahoo!?


22.9% (accept 17.9% to 27.9%)

10:
Yahoo!'s holdings are not limited to its search engine, but include del.icio.us, HotJobs, and this photo-sharing site originally developed by Ludicorp, one of the first to support tag clouds.


www.Flickr.com

BONUS 18
For ten points each, answer some questions about Eastern Europe under the Soviet Union.

10:
This treaty was signed in 1955.  It created a military alliance of Eastern European states and the USSR in response to NATO.


Warsaw Pact  (accept Warsaw Treaty of Friendship, Cooperation and Mutual Assistance and then promptly hit them)
10:
After an anti-Soviet revolution in 1956, Imre Nagy announced this nation’s withdrawal from the Warsaw Pact.  However, the Soviet army quickly crushed the revolt in this country.


Hungary
10:
This period of political liberalization in Czechoslovakia under Alexander Dubcek lasted from January to October of 1968 despite its name.  It ended when Warsaw Pact troops invaded the country under orders from Leonid Brezhnev. 


Prague Spring
BONUS 19
Name these books by John Steinbeck that take their titles from other works.

10:
In this book, Lennie’s affection for small, fuzzy animals parallels nicely with the title, taken from a Robert Burns poem.


Of Mice and Men
10:
Steinbeck considered this novel to be the culmination of his career.  It takes its title from the land of Nod in Genesis, and centers on the Trask and Hamilton families.


East of Eden
10:
This book’s title is taken from the opening lines of Shakespeare’s Richard III.  It deals with Ethan Hawley’s desire to attain success at the cost of his integrity.


Now is the Winter of Our Discontent
BONUS 20
Pencil and paper ready. For ten points each, given a set of capacitors and the way they are connected, calculate the equivalent total capacitance in farads. Fifteen seconds per answer.

10:
First, three capacitors, each at nine farads, are connected in parallel.


27 farads

10:
Three capacitors, each at nine farads, are connected in series.


3 farads

10:
Finally, the following sections of capacitor configurations are wired in series: a three farad capacitor and another three farad capacitor connected in parallel, followed by a single three farad capacitor, followed by a single two farad capacitor, and followed by a single one-farad capacitor.


2 farads

